Sr Questions Answers Choice

A0
1 Question Image

2 If f(x) = x3- 2x2+ 4x -1, then f(-2) = ?

3 Question Image

One-one but not onto
One-one and onto

Onto but not one-one
Neither one-one nor onto

4 Question Image
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5 Question Image

F(x)=x+3

. F(x) = x<sup>5</sup>
F(x) =3x+2

F(x) = x<sup>2</sup>+ x

6 Which of the following function form 1 to itself are bi-jective

|sin x| + |sin x|
sin<sup>4</sup>x + cos X
. sin (sin x) + sin (cos x)
None of these

7 TTis the period of the function

1

2

. Non periodic
None of these

8 The periods of the function f(x) = X[ is
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A. <span style="color: rgb(34, 34,
34); font-family: &quot; Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 224);"><i>m</i></span>
B. <span style="color: rgb(34, 34,
34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-

9 The period of the function f(x) = sinx + cos#x is align: center; background-color:
rgb(255, 255, 224);"><i>m</i>
</span>/2
C. 2<span style="color: rgb(34, 34,
34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 224);"><i>m</i></span>
D. None of these

A. <i style="text-align:
center;">T<sup>2</sup></i>

B. <i style="text-align: center;">m</i>
C. 2<i style="text-align: center;">mr</i>
D. <i style="text-align:
center;">T1/2</i>

10 The period sin20is

A. <span style="color: rgb(34, 34,
34); font-family: &quot;Times New
Roman&quot;; font-size: 24pXx; text-
align: center; background-color:

11 Question Image rgb(255, 255, 224);"><i>m</i></span>
B. <i style="text-align: center;">2m</i>
C. <i style="text-align:
center;">11/2</i>
D. None of these

A. One-to-one and onto

12 Question Image B. One-to-one but not on to
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Question Image

Question Image

Question Image

Question Image

The number of points of intersection of two curves y =2 sin xand y = 5x2+ 2x + 3 is

Question Image

Question Image

The general value offsatisfying the equation 2 sin20- 3 sing-2=0'is

Question Image

Question Image

If sin (7cos®) = cos (7Tsin@), then which of the following is correct?

The solution of the equation 00520+ sin0+ 1 =0 lies in the interval

One root of the equation cos x- x+ 1/2 = 0 lies in the interval

General solution of tan 59= cot 29is

The smallest positive root of the equation tan x- x =0 lies on

Question Image

The number of solution of the equation tan x + sec x = 2 cos x lying in the interval [0, 27T] is

If sin 69+ sin 40+ sin 29, then9=

C. Unto but not one-to-one
D. Neither one-to-one nor onto

A2

C.8
D. 12

B. [0, 1]
C.10, 1]
D. None of these

1
.2
. None of these

3

B
C
D
A1
C.
D. None of these

. From an empty set

.2
. &gt;2

7

6
. None of these
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A. A finite non-empty set

C.Bothaandb
D. None of these
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